Assignment
a. Discuss the argument structure and the subcategorization frame, and establish the theta grid for the verb in the sentence below.

b. Using the X'-model draw a tree diagram for the sentence below then discuss how the NPs acquire Case.

[Ahmad met his friend in his apartment]

Argument structure:

meet:   verb;   1       2     3

                      NP  NP  PP

Sucategorization frame:

meet:   V, [-----  NP, NP, PP]
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                                                               Ahmad                      met   his   friend   in    his     apartment
There are three cases. 2 accusative and one nominative. 1 The verb met is a head, a governor and a case assigner. It governs the following NP his friend and assign it accusative case. We can explain government here in terms of c-command and m-command. The verb met c-commands the NP his friend and the NP his friend c-commands the verb met. There is a relation of mutual c-command or sisterhood. The first branching node (V') dominating V met is also dominating NP his friend. The V met does not dominate the NP his friend and the NP his friend does not dominate the V met. There is no barrier (XP)that intervenes between V and NP and prevents government. 
2 The preposition in  is a head, a governor and a case assigner. It governs the following NP his apartment and assign it accusative case. We can explain government here in terms of c-command and m-command. The preposition in  c-commands the NP his apartment and the NP his apartment  c-commands the preposition in. There is a relation of mutual c-command or sisterhood. The first branching node (P') dominating P in  is also dominating NP his apartment. The preposition in  does not dominate the NP his apartment and the NP his friend does not dominate preposition in  . There is no barrier (XP)that intervenes between P and NP and prevents government. 
3 The I which has the features [+ tense, +Agr] is a head, a governor and a case assigner. It governs the preceding NP Ahmad and assign it nominative case. We can explain government here in terms of m-command but not c-command. The tensed I  m-commands the NP Ahmad . The maximal projection (IP) dominating  I is also dominating NP Ahmad. The I does not dominate the NP Ahmad and the Ahmad does not dominate the I. There is no barrier (XP)that intervenes between I  and NP  Ahmad  and prevents government. We can also explain the assignment of nominative case to agreement. Specifier-head agreement. The Spec NP Ahmad agrees with the head I. 
